THOFE FABEARET (AR CER) TR

DS Si6E2822H R7E
AH 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
B X 7K /N & T H = X 7K /N & + H B X 7K 7N & T H = X 7K /N & + H B X
AR FHIE FHFE FTHIE FHIE FHHE FTHIE FHE FHFE FHIE FHIE FHFE FTHIE FHE FHIE FHIE FHE FHIE FHIE Mg Op=1 FTHIE FHIE Bie Op=1 FTHIE FHIE FHE FHIE
CH&
58 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
7K 7N & T H A X 7K 7N & T H = X 7K 7N Eiid T H B X 7K /N & * H = X 7K 7N s
AR THIE Wig Op=1 FHF THIE FTHIE FHF FTHIE Big Op=1 FHF FTHIE Big Op=1 FHF FTHIE Big )1 THIE FTHIE FHFE THIE FTHIE FHF THIE Rig Op-1 FHFE THIE Big Op=1 FHFE FTHIE Big Op=1 FHF THIE Big Op=1
CH&
68 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
+ H B X 7K N e * H = X 7K PN & T H B X 7K N i T H B X 7K N e T H
AR Big p=1 g Op=1 FHE Wic )=1 Big Op-1 FTHF Pig p-1 FHE FHE FHE FHE FHE FTHE FHE Wic d)=1 FHE FHEF FTHE FHE FHE Wic )=1 FHE FHEF Wic )=1 FHE FHEF Wic )=1 FHE FHEF Wic )=1
CH&
78 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
= X 7K 7N Kira T H = X 7K 7N g T H B X 7K 7N ira T H = X 7K N i T H B X 7K
AR FTHIE FHIE FHFE FTHIE FHIE FHE FTHIE FHIE FHFE FHIE FHE FHFE FTHIE FHE FHIE FHIE FHE FHIE FHIE Wie Op=1 FTHIE FHIE FHE FTHIE FHE
CH& FTHIE FHIE FHF FHIE FHIE Wie )1 FTHIE FHE Wie )1 FTHIE Wig Op=3 FHF FTHIE Mg Op=1 THIE FTHIE Wig )1 THIE FHIE Wie )1 FTHIE Mg Op=1 Big )1 FTHIE FHIE FHFE FTHIE FHIE FHFE FTHIE FHE
88 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
7N & + H B X 7K VN & T H N 7K 7N & X 7K PN & + H B X 7K N & +
AR FTHE Big Op=1 FHF THIE FTHIE FHF THIE Big Op=1 FHF Big Op=1 FHF THIE FTHE
CH THIE Big Op=1 FHF THIE Big Op=1 FTHF THIE Big )1 FTHF THIE FTHFE THIE THIE FTHFE THIE THIE FTHFE THIE Pig Op-1 FTHFE THIE Pig Op-1 FTHFE FTHFE THIE Big Op=1
9 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
H = X 7K PN & T H B X 7K 7N & * H B X 7K PN i T H B X 7K PN & T H =
AR FHIE FHIE FHEF Wic t)=1 Big Op-1 FTHFH THIE FHE FHF FHE FHE FHEF Wic )=1 FHE Wic d)=1 Wic )1 FHF THE FHE FHEF Wic )=1 FHE FHEF Wic )=1 FHE FHEF Wic )=1 FHE FHEF FTHE
CH& FHIE FHIE FHIFE FHIE FHIE FHFE FHIE FHIE Bie )1 FHIE FHIE FHFE FHIE FHIE FHIE FHIE FHIE FHIE FHIE FHE FHIE FHIE FHIE FHIE FHIE FHE FHIE FHIE FHFE FHIE
108 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
X 7K N & T X 7K 7N & B X 7K /N & + H B X 7K 7N & + H = X 7K PN
ARR FHIE
CH& THIE Rig Op=1 FHF THIE FTHE Wie )1 FTHIE Wig Op=1 FHF FTHIE Wig Op=1 FHF Rig Op=1 Rig )1 THIE FTHIE FHFE THIE Rig Op-1 FHFE THIE Big Op=1 Big )1 THIE FTHIE Big )1 THIE Wig Op=1 FHFE THIE Wig Op=1
18 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
& B X 7K & + B N 7K N &= H X 7K 7N & + H = X 7K VN & +
AR
CH&
128 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
H X 7K N & T X 7K ira T X 7K PN & T H A X 7K K ira T H = X
AR
CH&
18 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
7K VN i T H X 7K N Kird T X 7K 7N i T B X 7K /N & T H H X 7K 7N &
ARR
CH&
28 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28
+ X 7K /N X 7K /N & N 7K PN e T H B X 7K N &
AR
CH&
38 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
+ X 7K 7N & T X 7K /N i X 7K 7N & + H B X 7K /N & + H B
AR
CH&




